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1. Solve the initial value problem: »''+3»'-2y =0, p(0)=4, y'(0)=-5. (10%)
2. Solve the nonhomogeneous equation: V' '+4y =8x7. ' (10%)
32 00
6 8 0 0
3. Evaluation of determinant: 00 4 7 (10%)
0 0 2 5
-1 1 2
4. Findtheinverseof | 3 ~—1 1 (10%)
-1 3 4

2 if O<t<=xm
5. Find the Laplace transform of the function: S ()= 0 #f 7 <t<2z (15%)
sint¢  if t>2rm

6. Solve the initial value problem: y'+ytanx=sin2x, y(0)=1. (15%)

0 if -2<x<-1

7. Find the Fourier series of the function f(x)=1k f -l<x<1 p=2L=4. (15%)
0 if 1<x<2

8. Find the Fourier transform of f{x) = k if 0 <x < a and f{x) = 0 otherwise. | (15%)





